

ON $|\bar{N}, p_n|_k$ SUMMABILITY FACTORS OF INFINITE SERIES

Mehmet Ali SARIGÖL

Erciyes Üniversitesi Fen-Edebiyat Fakültesi, Kayseri

SUMMARY

In this paper, a theorem on $|\bar{N}, p_n|_k$ summability factors, which generalizes the theorems of Sinha [2] and Bor [4] has been proved.

SONSUZ SERİLERİN $|\bar{N}, p_n|_k$ TOPLANABİLME ÇARPANLARI HAKKINDA

ÖZET

Bu çalışmada, Sinha [2] ve Bor [4] 'un teoremlerini genelleştiren $|\bar{N}, p_n|_k$ toplanabilme çarpanları ile ilgili bir teorem ispat edilmiştir.

1. INTRODUCTION

Let $\sum a_n$ be a given infinite series with the sequence of partial sums (s_n) and let (p_n) be a sequence of positive real constants such that

$$p_n = p_0 + p_1 + \dots + p_n \rightarrow \infty, \text{ as } n \rightarrow \infty, (p_{-1} = p_{-2} = 0),$$

A series, $\sum a_n$ is said to be summable $|\bar{N}, p_n|_k$, $k \geq 1$, if (see [3])

$$\sum_{n=1}^{\infty} \left(\frac{p_n}{p_{n-1}}\right)^{k-1} |t_n - t_{n-1}|^k < \infty,$$

where

$$t_n = \frac{1}{p_n} \sum_{v=0}^n p_v s_v.$$

It should be noticed that $|\bar{N}, p_n|_k$ summability is identical with

$$|\bar{N}, p_n| \quad ([1]) \quad \text{for } k = 1.$$

Recently Sinha [2] proved the following theorem.

Theorem A. Let (ϵ_n) be a sequence such that

$$(i) \sum_{n=2}^m \frac{p_n}{P_n} |\epsilon_n| = o(1), \quad (ii) \frac{p_n}{P_n} |\Delta \epsilon_n| = o(|\epsilon_n|).$$

If

$$\sum_{v=1}^n |s_v| p_v = o(P_n \gamma_n)$$

where (γ_n) is a positive non-decreasing sequence such that

$$\frac{p_{n+1}}{p_{n+1}} \gamma_n \Delta \left(\frac{1}{\gamma_n} \right) = o(1), \text{ as } n \rightarrow \infty,$$

then $\sum \frac{a_n \epsilon_n}{\gamma_n}$ is summable $\left| N, p_n \right|$.

Quite recently Bor [4] proved following more general theorem.

Theorem B. Let (ϵ_n) be a sequence such that

$$(i) \sum_{n=2}^m \frac{p_n}{P_n} |\epsilon_n| = o(1), \quad (ii) \frac{p_n}{P_n} |\Delta \epsilon_n| = o(|\epsilon_n|).$$

If

$$\sum_{v=1}^n p_v |s_v|^k = o(P_n \gamma_n), \text{ as } n \rightarrow \infty,$$

where (γ_n) is a positive non-decreasing sequence such that

$$\frac{p_{n+1}}{p_{n+1}} \gamma_n \Delta \left(\frac{1}{\gamma_n} \right) = o(1), \text{ as } n \rightarrow \infty,$$

then $\sum \frac{a_n \epsilon_n}{\gamma_n}$ is summable $\left| N, p_n \right|_k, (k \geq 1)$,

2. MAIN RESULTS

The aim of this paper is to prove the following theorem which generalizes the above theorems.

Theorem. Let (ϵ_n) be a sequence such that

$$(i) \sum_{n=2}^m \frac{p_n}{p_n} |\epsilon_n| = O(1), \quad (ii) \frac{p_n}{p_n} |\Delta \epsilon_n| = O(|\epsilon_n|).$$

If

$$\sum_{v=1}^n p_v |s_v|^k = O(P_n |\gamma_n|), \quad n \rightarrow \infty$$

where (γ_n) is a sequence such that $(|\gamma_n|)$ is non-decreasing sequence and

$$\frac{p_{n+1}}{p_{n+1}} |\gamma_n| \left| \Delta \left(\frac{1}{\gamma_n} \right) \right| = O(1), \quad \text{as } n \rightarrow \infty,$$

then

$$\sum \frac{a_n \epsilon_n}{\gamma_n} \text{ is summable } \left| \bar{N}, p_n \right|_k, \quad (k \geq 1).$$

Proof of the theorem. Let T_n denote (\bar{N}, p_n) mean of the series

$$\sum \frac{a_n \epsilon_n}{\gamma_n}. \text{ Then}$$

$$T_n = \frac{1}{p_n} \sum_{v=0}^n p_v \sum_{i=0}^v \frac{a_i \epsilon_i}{\gamma_i} = \frac{1}{p_n} \sum_{v=0}^n (P_n - P_{v-1}) \frac{a_v \epsilon_v}{\gamma_v}.$$

$$T_n - T_{n-1} = \frac{p_n}{p_n p_{n-1}} \sum_{v-1}^n p_{v-1} \frac{a_v \epsilon_v}{\gamma_v}.$$

Using Abel's transformation, we get

$$T_n - T_{n-1} = - \frac{p_n}{p_n p_{n-1}} \sum_{v=1}^{n-1} \frac{p_v s_v \epsilon_v}{\gamma_v} + \frac{p_n}{p_n p_{n-1}} \sum_{v=1}^{n-1} \frac{s_v}{\gamma_v} p_v |\Delta \epsilon_v|$$

$$+ \frac{p_n}{p_n p_{n-1}} \sum_{v=1}^{n-1} s_v p_v \epsilon_{v+1} \Delta \left(\frac{1}{\gamma_v} \right) + \frac{s_n p_n \epsilon_n}{p_n \gamma_n}$$

$$= T_{n,1} + T_{n,2} + T_{n,3} + T_{n,4}, \text{ say.}$$

To Prove the theorem, by Minkowski's inequality, it is sufficient to show

$$\sum_{n=1}^{\infty} \left(\frac{p_n}{p_n} \right)^{k-1} |T_{n,i}|^k < \infty, \text{ for } i=1,2,3,4.$$

Now, applying Hölder's inequality, we have

$$\begin{aligned} \sum_{n=2}^{m+1} \left(\frac{p_n}{p_n} \right)^{k-1} |T_{n,1}|^k &\leq \sum_{n=2}^{m+1} \frac{p_n}{p_n p_{n-1}} \sum_{v=1}^{n-1} \frac{p_v |s_v|^k |\epsilon_v|}{|\gamma_v|} \times \left[\frac{1}{p_{n-1}} \sum_{v=1}^{n-1} \frac{p_v |\epsilon_v|}{|\gamma_v|} \right]^{k-1} \\ &= O(1) \sum_{v=1}^m \frac{p_v |s_v|^k |\epsilon_v|}{p_v |\gamma_v|} \\ &= O(1) \sum_{v=1}^{m-1} \Delta \left(\frac{|\epsilon_v|}{p_v |\gamma_v|} \right) p_v |\gamma_v| + O(1) |\epsilon_m| \\ &= O(1) \sum_{v=1}^{m-1} |\Delta \epsilon_v| + O(1) \sum_{v=1}^{m-1} |\epsilon_{v+1}| |\gamma_v| \Delta \left(\frac{1}{\gamma_v} \right) \\ &\quad + O(1) \sum_{v=1}^{m-1} \frac{|\epsilon_{v+1}| p_{v+1} p_v}{p_{v+1} p_v |\gamma_{v+1}|} + O(1) \\ &= O(1) \sum_{v=1}^{m-1} \frac{p_v}{p_v} |\epsilon_v| + O(1) \sum_{v=1}^{m-1} \frac{p_{v+1}}{p_{v+1}} |\epsilon_{v+1}| + O(1) \sum_{v=1}^{m-1} \frac{p_{v+1}}{p_{v+1}} |\epsilon_{v+1}| + O(1) \\ &= O(1), \text{ as } m \rightarrow \infty, \text{ by the hypotheses of the theorem.} \end{aligned}$$

Also we obtain

$$\begin{aligned} \sum_{n=2}^{m+1} \left(\frac{p_n}{p_n} \right)^{k-1} |T_{n,2}|^k &\leq \sum_{n=2}^{m+1} \frac{p_n}{p_n p_{n-1}^k} \left[\sum_{v=1}^{n-1} \frac{|s_v| p_v |\Delta \epsilon_v|}{|\gamma_v|} \right]^k \\ &\leq K \sum_{n=2}^{m+1} \frac{p_n}{p_n p_{n-1}^k} \left[\sum_{v=1}^{n-1} \frac{|s_v| p_v |\epsilon_v|}{|\gamma_v|} \right]^k \end{aligned}$$

$$\begin{aligned}
 &= O(1) \sum_{n=2}^{m+1} \frac{p_n}{p_n p_{n-1}} \sum_{v=1}^{n-1} \frac{|s_v|^{k p_v} |\epsilon_v|}{|\gamma_v|} \\
 &= O(1) \sum_{v=1}^m \frac{|s_v|^{k p_v} |\epsilon_v|}{|\gamma_v| p_v} = O(1), \text{ as } m \rightarrow \infty,
 \end{aligned}$$

where K is a positive constant.

Again,

$$\begin{aligned}
 \sum_{n=2}^{m+1} \left(\frac{p_n}{p_n}\right)^{k-1} |T_{n,3}|^k &= \sum_{m=2}^{m+1} \frac{p_n}{p_n p_{n-1}^k} \left| \sum_{v=1}^{n-1} s_v p_v \epsilon_{v+1} \Delta \left(\frac{1}{\gamma_v}\right) \right|^k \\
 &= O(1) \sum_{v=1}^m \frac{|s_v|^k p_v |\epsilon_v|}{p_v |\gamma_v|} = O(1), \text{ as } m \rightarrow \infty.
 \end{aligned}$$

Finally, we have

$$\begin{aligned}
 \sum_{n=1}^{m+1} \left(\frac{p_n}{p_n}\right)^{k-1} |T_{n,4}|^k &= \sum_{n=1}^{m+1} \frac{|s_n|^{k p_n} |\epsilon_n|^k}{p_n |\gamma_n|^k} \\
 &= \sum_{n=1}^{m+1} \frac{|s_n|^{k p_n} |\epsilon_n|}{p_n |\gamma_n|} \left(\frac{|\epsilon_n|}{|\gamma_n|}\right)^{k-1} \\
 &= O(1) \sum_{n=1}^{m+1} \frac{|s_n|^{k p_n} |\epsilon_n|}{p_n |\gamma_n|} = O(1), \text{ as } m \rightarrow \infty.
 \end{aligned}$$

Therefore, we get

$$\sum_{n=1} \left(\frac{p_n}{p_n}\right)^{k-1} |T_{n,i}|^k < \infty, \quad i=1,2,3,4.$$

This completes the proof of the theorem.

Corollary. If we take $\gamma_n > 0$; $\gamma_n > 0$ and $k=1$ in our theorem then we get theorem B, and theorem A, respectively.

REFERENCES

1. E.C. Daniel, On $\left| \bar{N}, p_n \right|$ summability of infinite series, Jour. Math. Univ. Jabalpur, 2 (1966), 39-48.
2. R. Sinha, On $\left| \bar{N}, p_n \right|$ summability factors of infinite series. Comm. Fac. Sci. Univ. Ankara, Ser. A. 21, (1972), 100-117.
3. H.Bor, On $\left| \bar{N}, p_n \right|_k$ summability factors of infinite series Tamkang Journal of Mathematics, 16.1 (1985), 13-20.
4. H.Bor, On $\left| \bar{N}, p_n \right|_k$ summability factors of infinite series Comm. Fac. Sci. Univ. Ankara, Ser. A₁. 31, (1982), 129-133